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2018-2019学年第二学期南京市六校联合体高二年级期末考试试卷英语
第二部分 英语知识运用（共两节，满分30分）

第1节  单项选择（共15题，每题1分，共15分）

21.He wasn’t begging for a handout but surely appreciated the help in a            situation.

A .deliberate           B.desperate        C.stable           D.shallow

【参考答案】B
【思路解析】考查形容词词义辨析。句意：他不是乞讨救济品但是由衷地感谢在绝望之际的这份帮助。A. deliberate，作形容词意思是 故意的、存心的，不慌不忙的；作动词 深思熟虑、仔细思考B. desperate绝望的，不顾一切的；C. stable 稳定的、沉稳的；D. shallow肤浅的、浅的。根据句意判断，故选B。

22.‘’There is            among Chinese people that no country or individual can can protect itself without intellectual property（知识产权）protection’’ Liu Xin said.

A .commitment         B.criterion         C.consensus        D.competence

【参考答案】C
【思路解析】考查名词词义辨析。句意：刘鑫说，在中国人群中由这样一种共识，没有知识产权保护法的话，任何国家和个人都不能保护自己。A.commitment 承诺、许诺，（因工作而）献身、奉献B. criterion （判断的）标准、准则、原则；C.consensus 一致意见、共识；D. competence 能力、胜任、本领。根据句意判断，故选C。
23.The building was designed to            the elderly and provide them with the best environment.

A .calculate            B.accommodate     C.expose           D.resemble

【参考答案】B
【思路解析】考查动词词义辨析。句意：这座建筑物是为老年人设计的来给他们提供膳宿和最好的环境。A.calculate 计算、推测B. accommodate 为（某人）提供膳宿，容纳；C.expose暴露、揭露，使面临（不快或危险）；D.resemble 看起来像、显得像。根据句意判断，故选B。
24.The manager is someone who is            all the prejudices against women in the workplace and who creates his own values and purpose.

A .away from           B.free from        C.far from          D.apart from

【参考答案】B
【思路解析】考查介词短语辨析。句意：管理者就是在工作场所没有对女性持有偏见并且有自己的价值观和目标感。A. away from 离开、远离；B. free from 使……摆脱，从……释放出来；C.far from远离，绝非；D. apart from 除了……外（都）。根据前面的“没有对女性的偏见”可推知，摆脱偏见，故选B。
25.Synthetic biology,          to design and construct new biological parts, devices and systems, is changing many aspects of our life.
A .intended           B.intending       C.to intend         D.having intended
【参考答案】A
【思路解析】考查动词的语态。句意：规定为设计和构建新的生物部分、仪器和系统的合成生物学正在改变我们生活的愈多方面。intend to的意思是打算做...，想要....。常见短语是intend sb to do或者intend to do。be intended to do的意思是打算...，意图是...（为了）。和intend to比起来，有被动的含义。常用短语有be intended to be（规定为；确定为）。故选A。
26.He was allowed to stay on with his grandma          he restricted himself to his studies. 
A .in case          B.even if     C.as though        D.so long as
【参考答案】D

【思路解析】考查介词短语辨析。句意：只要他能限制自己到学业上，就被允许继续和他的奶奶待在一起。A. in case以备；竟然；B. even if 尽管、即使；C. as though 好像；D. so long as 只要。根据restricted himself to his studies管好自己去学习，结合句意，故选D。
27.This program plays a role of a medium          some assume is of great value to cultural exchange.
A .when          B.where    C.which       D.who
【参考答案】C
【思路解析】考查定语从句。句意：这个程序在媒体中起作用，一些人认为媒体对文化相互交流有着重要的价值。 play a role in 起作用于；be of great value意思是重要的，宝贵的，很有用的，some assume一些人认为，插入语。故选C。
28.Behind the US-China trade war          that China is trying to end the American era.
A .lies a growing fear           B.a growing fear is living   

C. does a growing fear lie       D.is lying a growing fear
【参考答案】A
【思路解析】考查倒装句。句意：在中美贸易战之后是美国对于中国正在结束美国时代的日益增长的恐惧感。Behind引导介词短语位于句首，句子完全倒装。故选A。
29.---I was scolded for my wrong judgment.
   ---If only you          the issue more thought.
 A .gave         B.would give    C.have given     D.had given
【参考答案】D
【思路解析】考查虚拟语气。句意：---我由于错误的判断而受到责备。 ---假如你能再做多一些思考就好了。根据“If only.和was scolded ”可知，此句是对过去的虚拟语气。If only从句与过去事实相反，故选D。
30.His eyes locked with mine,and I guess he          the decision right then whether or not to simply tell me the truth.
A .was making       B.would make    C.made    D.had made
【参考答案】A
【思路解析】考查过去进行时。句意：他的眼睛盯着我的眼睛的时候，我认为他在决定是否告诉我真相。根据“locked和guess ”可知此句考查过去进行时的用法，故选A。
31.The Sundance Film Festival boycotts Hollywood films and this can serve as an indicator 
of    what     the sponsors values now and in the past.
A .that       B.where    C.how   D.what
【参考答案】D
【思路解析】考查宾语从句。句意：圣丹斯电影节联合抵制好莱坞电影，而这也正是赞助商一直以来所重视的。That引导宾语从句，在句子中不充当成分；where在宾语从句中充当地点状语，how在宾语从句中充当方式状语，what引导宾语从句，what在宾语从句中充当句子成分由于values缺少宾语，做故选D。
32.This was a courageous decision,         all the board members of the company opposed.
A .it     B.that    C.one   D.the one
【参考答案】D
【思路解析】考查代词用法。句意：这是一个需要勇气的决定，公司委员会所有成员都反对这样的决定。It代指上文提到的事物本身；that同类事物中不同一个，是特指，相当于that+名词；one相当于a+名词，是泛指；the one 是特指。根据句意，故选D.
33.The flood         everything, the victims became homeless and could only live temporarily in shelters.
A .destroyed    B.having destroyed    C.destroying   D.had destroyed
【参考答案】B
【思路解析】考查非谓语独立主格结构。句意：洪水毁了一切，受难者变得无家可归只能住在临时住所。动词destroy的逻辑主语和主句的逻辑主语不一致，需要用到动词现在分词形式作状语，根据句意，destroy的动作已经发生并对后来产生影响，故用完成时态的非谓语形式充当原因状语，故选B.
34.The newly-elected president officially         a plan to break through the trade barrier.
A .laid off   B.laid down    C.laid out   D.laid aside
【参考答案】C
【思路解析】考查介词短语辨析。句意：新当选的总统正式阐述了一项关于如何打破别国的贸易壁垒的计划。A. lay off（因工作岗位不足而）被辞退、解雇；B. lay down制定、颁布。搁下；C. lay out讲解、阐述、规划；D. lay aside搁置、储存以备后用、抛开（情感或信仰）。根据句意，故选C。
35.---I think there may be another way to handle the housing problem.
   ---        . The floating cities are perhaps an alternative solution.
A .I beg to differ  B.I think otherwise   C.You have me there   D.You have a point there
【参考答案】D
【思路解析】考查情景交际。句意：——我认为还有别的方法解决住房问题？——你说得对，漂浮城市可能是一个选择。I beg for differ我不敢苟同；I think otherwise 我有另一番想法；you have me there 你难住我了；you have a point there 你说的有道理。根据句意，故D项符合语境。
第二节完形填空(共20小题;每小题1分,满分20分)

请认真阅读下面短文,从短文后各题所给的A、B、C、D四个选项中,选出最佳选项,

并在答题卡上将该项涂黑。

For a long time, I thought a present and a gift were no different. I grew up in a household where presents___36___special occasions, say there were always presents for Christmas and our birthdays.

So when I married Gary who did not give presents on a___37___basis, I had to make an adjustment. Gary did not wholly avoid gift-giving, though.___38___noticing how many hours I spend on the___39___, he brought home a shoulder pad (垫肩) for the telephone receiver. But mostly, he___40___holidays, let alone shop for earrings to___41___to me showing his affection.

I tried to change him___42___. I bought books for his birthdays and knitted him hats and sweaters for Christmas.___43___I began to tell him what I wanted, giving___44___instructions, but got nowhere.

Last year when the snowstorm___45___our town and he was on business, I used his present road scraper(铲土机)to___46___both our drive and our neighbors, thinking how___47___earnings would have been. Gary had wisely chosen not the thing I___48___,but the thing that he knew I would need.

I___49___began to understand the difference between a present and a gift. A present is just a thing.But a gift is broader and often cannot be___50___, It is a small act of kindness, the___51___to bend to another's needs, the sacrifice of time and effort.___52___is a gift. Any expression of it, freely given, is a (n)___53___from the heart that is immeasurably better than a present.

My insistence on presents must have seemed to Gary a lack of___54___for the gifts he had be giving all along, but he never stopped giving them.

Gary will be home this Christmas, but I don't ___55___a present. I already have the greatest gift.

	36.A.marked
	B.involved
	C.expressed
	D.displayed

	37.A.daily
	B.rare
	C.temporary
	D.regular

	38.A.Therefore
	B.Once
	C.Then
	D.Besides

	39.A.gardening
	B.cooking
	C.telephone
	D.Internet

	40.A.missed
	B.hated
	C.abandoned
	D.ignored

	41.A.serve
	B.refer
	C.present
	D.relate

	42.A.by tradition
	B.by force
	C.by example
	D.by chance

	43.A.Yet
	B.Even
	C.Thus
	D.Still

	44.A.useful
	B.simple
	C.specific
	D.interesting

	45.A.struck
	B.disappeared
	C.melted
	D.passed

	46.A.clear
	B.tear up
	C.build up
	D.speed up

	47.A.priceless
	B.useless
	C.weightless
	D.colorless

	48.A.valued
	B.prepared
	C.preserved
	D.desired

	49.A.eventually
	B.definitely
	C.simply
	D.totally

	50.A.obtained
	B.discovered
	C.measured
	D.observed

	51.A.happiness
	B.willingness
	C.wisdom
	D.freedom

	52.A.Love
	B.Passion
	C.Insistence
	D.Motivation

	53.A.sharing
	B.offering
	C.following
	D.experiencing

	54.A.desire
	B.concern
	C.preparation
	D.appreciation

	55.A.purchase
	B.order
	C.expect
	D.evaluate


36.【参考答案】A
【思路解析】根据句意“在我成长的家庭里，礼物是有特殊意义的，比如圣诞节和我们的生日都有礼物。”可以得知。
37.【参考答案】D
【思路解析】根据句意“当我和加里结婚的时候，他不经常送礼物，所以我不得不做出调整。”可以得知。
38.【参考答案】B
【思路解析】根据句意“有一次他注意到我打了很长时间打电话”可以得知。
39.【参考答案】C
【思路解析】根据句意“买了一个放电话听筒的垫肩”可以得知。
40.【参考答案】D
【思路解析】根据句意“但大多数时候，他都不去度假。”可以得知。
41.【参考答案】C
【思路解析】根据句意“更不用说买耳环送给我来表达他的爱意。”可以得知。
42.【参考答案】C
【思路解析】根据句意“我试图用行动去改变他。”可以得知。
43.【参考答案】B
【思路解析】根据句意“甚至我开始告诉他我想要什么。”可以得知。
44.【参考答案】C
【思路解析】根据句意“表达我明确的想法”可以得知。
45.【参考答案】A
【思路解析】根据句意“去年暴风雪消失的时候，他正在出差。”可以得知。
46.【参考答案】A
【思路解析】根据句意“我用铲土机清理出了我们和邻居的车道。”可以得知。
47.【参考答案】B
【思路解析】根据句意“想想这些钱是多么没用。”可以得知。
48.【参考答案】D
【思路解析】根据句意“加里明智地选择了他知道我需要的东西，而不是我想要的东西。”可以得知。
49.【参考答案】A
【思路解析】根据句意“我终于开始明白礼物与礼物之间的区别”可以得知。
50.【参考答案】C
【思路解析】根据句意“但是，一份礼物是宽泛的，常常是无法衡量的”可以得知。
51.【参考答案】B
【思路解析】根据句意“愿意满足他人的需要”可以得知。
52.【参考答案】A
【思路解析】根据句意“爱是一种礼物。”可以得知。
53.【参考答案】B
【思路解析】根据句意“任何对它的表达，只要是自由的，都是发自内心的奉献，比任何礼物都要好。”可以得知。
54.【参考答案】D
【思路解析】根据句意“在加里看来，我坚持要送礼物，一定是对他一直以来送的礼物缺乏感激之情，但他从未停止过送礼物。”可以得知。
55.【参考答案】C
【思路解析】根据句意“加里今年圣诞节会在家，但我不指望得到什么礼物。我已经拥有了最好的礼物。”可以得知。
第三部分阅读理解(共15题,每题2分,满分30分)

请认真阅读下列短文,从短文后所给的ABCD四个选项中选出最佳选项,并在答题卡上

将该项涂黑。

A

You don't need to spend a long layover(短暂停留) in a passenger lounge. Some airports offer free or low-cost local tours to connecting passengers. "If you have a five- or six-hour layover, you can easily see several things, "said Brendan Dorsey of The Points Guy, a site devoted to traveling on points and miles. Some tours have fees, and it's important to check on visa requirements.

	Incheon Airport, South Korea

South Korea’s main airport makes it simple to visit the capital city of Seoul. Passengers can tour

temples, caves and palaces, or even sign up for downtown shopping. " You only need a couple

hours, "Dorsey says. "It's a stress-free way to see the city.



	Istanbul Airport

Istanbul recently opened a new $12 billion airport, but continues a long tradition of free tours for

passengers on its flagship airline, Turkish Airlines. Passengers with at least a six-hour layover can hit top historic districts and have a chance to sample Turkish food. And those with a layover of more than 20 hours may even be offered for a free hotel stay.



	Narita Airport, Japan

With just a few hours in Japan, you still have time to dress up like a samurai or ninja on one of

several English-speaking trips offered by the airport. Along with a cosplay visit to a historic theme park, visitors can tour temples, take a nature hike or sample a home-style Japanese meal. Tours are free but don't include the cost of public transportation or entrance fees.



	Taoyuan International Airport, Taiwan

If your layover lasts from seven to 24 hours, you're offered free tours of the island. Passengers can store their bags at the airport, freeing them up to take their choice of two half-day city tours provided by the Taiwan Tourism Bureau. Tours can be booked on arrival but often fill up, making reservations advisable.




56. Which of the following is true for the layover passengers according to the passage?

A. None of the airports listed in the passage charge layover passengers fees.

B. Passengers can take free public transport to visit a historic theme park from Narita Airport.

C. Passengers are advised to book their trips in advance if they want to tour around Taiwan.

D. Passengers can get dressed up and have a free hotel stay provided by Incheon Airport.

57. What do Istanbul Airport and Nartia Airport have in common?

A. Stay in a hotel free of charge.

B. Visit of historical temples.

C. Convenience of shopping downtown.

D. Taste of traditional food.

56.【参考答案】C
【思路解析】细节理解题。根据最后一段“Tours can be booked on arrival but often fill up, making reservations advisable.”可以得知。
【参考答案】D
【思路解析】细节理解题。根据上文“Passengers with at least a six-hour layover can hit top historic districts and have a chance to sample Turkish food.”和“Along with a cosplay visit to a historic theme park, visitors can tour temples, take a nature hike or sample a home-style Japanese meal.”可以得知两个机场都可以有机会品尝到地方美食。
B

Tiny microbes(微生物)are at the heart of a new agricultural technique to manage harmful greenhouse gas. Scientists have discovered how microbes can be used to turn carbon dioxide into soil-enriching limestone(石灰石), with the help of a type of tree that grows in tropical areas, such as West Africa.

Researchers have found that when the Iroko tree is grown in dry, acidic soil and treated with a combination of natural fungi(霉菌)and other bacteria, not only does the tree grow well, it also produces the mineral limestone in the soil around its root.

The Iroko tree makes a mineral by combining Ca from the earth with CO2 from the atmosphere The bacteria then create the conditions under which this mineral turns into limestone. The discovery offers a new way to lock carbon into the soil, keeping it out of the atmosphere. In addition to storing carbon in the trees leaves and in the form of limestone. the mineral in the soil makes it more suitable for agriculture.

The discovery could lead to reforestation(重新造林) projects in tropical countries, and help reduce carbon dioxide in the atmosphere in the developing world. It has already been used in West Africa and is being tested in Bolivia, Haiti and India.

The findings were made in a three-year project involving researchers from the Universities of Edinburgh, Granada, Lausanne and Delft University of Technology. The project examined several microbiological methods of locking CO2 as limestone, and the Iroko-bacteria way showed best results. Work was funded by the European Commission under the Future&Emerging Technologies(FET)scheme.

Dr Bryne Ngwenya of the University of Edinburgh’s School of GeoSciences, who led the research, said:“By taking advantage of this natural limestone-producing process, we have a low-tech,safe, readily employed and easily operating way to lock carbon out of the atmosphere, while improving farming conditions in tropical countries.”

58. The passage is mainly introducing______.

A. some useful natural fungi and bacteria

B. a new way to deal with greenhouse gas

C. a newly-found tree in West Africa

D. the soil-enriching limestone created by scientists

59. Which of the following is True about tiny microbes?

A. Most tiny microbes like living in dry, acidic soil.

B. CO2 can be broken down by natural fungi and bacteria.

C. The more greenhouse gas is, the more active tiny microbes become.

D. Tiny microbes get along well with the Iroko tree in special soil.

60. What does the underlined word"it"in paragraph 3 probably refer to?

	A.Soil.
	B.Carbon.
	C.Limestone.
	D.Carbon.


61. According to the passage, what can we infer?

A. The action of the tiny microbes can increase the oxygen in the earth

B. Researchers have done the experiment on trees in Africa for three years

C Researchers tend to use natural power to solve their problem

D. West Africa is one of the most polluted areas all over the world

58.【参考答案】B
【思路解析】细节理解题。根据第一段“Scientists have discovered how microbes can be used to turn carbon dioxide into soil-enriching limestone(石灰石), with the help of a type of tree that grows in tropical areas, such as West Africa.”可以得知，科学家发现了处理温室气体的新方法。
59.【参考答案】D
【思路解析】细节理解题。根据第二段段“Researchers have found that when the Iroko tree is grown in dry, acidic soil and treated with a combination of natural fungi(霉菌)and other bacteria, not only does the tree grow well, it also produces the mineral limestone in the soil around its root.”可以得知，微生物在特殊的土壤环境下，能与艾罗科树互利共生。
60.【参考答案】A
【思路解析】细节理解题。根据上下文可以得知，碳元素被锁定在除了树叶和石灰石的土壤中。
61.【参考答案】C
【思路解析】细节理解题。根据最后一段“By taking advantage of this natural limestone-producing process, we have a low-tech,safe, readily employed and easily operating way to lock carbon out of the atmosphere, while improving farming conditions in tropical countries.”可以得知。
C

Mickey Wilson had been on the mountain only a few seconds when he heard the scream.Wilson,28 years old, had just gotten off the cable car(索道缆车) at the Arapahoe Basin Ski Area in Keystone, Colorado, along with his friends Billy Simmons and Hans Mueller. Their friend Richard had been on the cable car ahead of them, but when the men reached the top of the lift, he had disappeared. The men walked toward the source of the scream and found skiers stopped on the slope,pointing to the cable car. And then the friends screamed too.
“Oh, Richard! ”yelled Mueller.

When Richard had tried to jump off the cable car, his backpack had been caught in the chair.which then dragged him back down the hill. In the process, the backpack belt twisted around his neck, making him breathless. Now Richard's body was swinging four feet above the snow. The cable car operator had quickly stopped it, and the friends kicked off their skis and ran toward the scene.They made a human pyramid to try to reach Richard, but the unconscious man was too far off the ground. With the clock ticking, Wilson ran to the ladder of a nearby lift tower. Scared skiers watched as he struggled the 25 feet. After he reached the top, Wilson’s first challenge was to climb onto the two-inch steel cable that held the chairs. He handled the balance and height bravely, but he knew he could not walk on the cable. Therefore, he calmed down and sat over it and then used his hands to pull himself to Richard quickly. Wilson’s greatest fear wasn't that he'd fall, but that he wouldn’t reach Richard. “This was life or death,”he said.

When he reached Richards chair, Wilson swung a leg over the cable and attempted to drop down onto it. But as he did that, his jacket caught on the movable footrest, which was in the up position.The footrest began to slide down, with Wilson attached. But before that could happen, he managed to free himself and reached Richard.

Fortunately, the ski patrol (i f )had gathered below and performed emergency treatment on Richard, who had been hanging for about five minutes, then skied him down to an ambulance.

That night, Richard called from the hospital to express his thanks to Wilson, his other friends and the workers at the Arapahoe Basin Ski Area.

62. What happened to Richard when he tried to jump off the cable car?

A. He was sick and became unconscious.

B. He left his skis which stopped the cable car

C. He was too afraid to move forward in the cable car

D. He was caught by the neck, hanging down the cable

63. How did Richard survive?

A. People worked together and saved him

B. The ski patrol got him down and treated him

C. Wilson climbed on the cable and saved him

D. Skiers treated him and carried him to the hospital

64. The story at the Arapahoe Basin Ski Area mainly tells us

A. he that climbs high often falls heavily

B bravery and calm can help you make a difference

C. where there is a lack of carefulness, there is danger

B a person with a great talent always has great will-power

62.【参考答案】D
【思路解析】细节理解题。根据第三段“In the process, the backpack belt twisted around his neck, making him breathless.”可以得知，理查德试图从缆车上跳下来时，背包皮带缠绕在他的脖子上。
63.【参考答案】A
【思路解析】细节理解题。根据第三和第四段可以得知，理查德的脱险源于朋友们齐心协力的营救。
64.【参考答案】B
【思路解析】细节理解题。根据第四段“He handled the balance and height bravely, but he knew he could not walk on the cable. Therefore, he calmed down and sat over it and then used his hands to pull himself to Richard quickly.”可以得知，勇敢和冷静能帮助你做出正确的决断。
D

Have you ever fallen for a novel and been amazed not to find it on lists of great books? Or walked around a sculpture known as a classic, struggling to see why it is famous? If so, you’ve probably thought about the question a psychologist, James Cutting, asked himself: How does a work of art come to be considered great?

The direct answer is that some works of art are just great: of inner superior quality. The paintings that win prime spots in galleries, get taught in classes are the ones that have proved their artistic value over time. If you can't see they’re superior, that's your problem. But some social scientists have been asking questions of it, raising the possibility that artistic canons(名作目录)are little more than old historical accidents.

Cutting, a professor at Cornell University, wondered if a psychological pattern known as the“mere-exposure effect”played a role in deciding which paintings rise to the top of the cultural league. Cutting designed an experiment to test his hunch(直觉). Over a lecture course he regularly showed undergraduates works of impressionism for two seconds at a time. Some of the paintings canonical, included in art-history books. Others were lesser known but of comparable quality were exposed four times as often. Afterwards, the students preferred them to the canonical works, while a control group liked the canonical ones best. Cuttings students had grown to like those paintings more simply because they had seen them more.

Cutting believes his experiment casts light on how canons are formed. He reproduced works of impressionism today bought by five or six wealthy and influential collectors in the late 19th century.Their preferences given to certain works made them more likely to be hung in galleries and printed in collections. And the fame passed down the years. The more people were exposed to, the more they liked it, and the more they liked it, the more it appeared in books, on posters and in big exhibitions. Meanwhile, academics and critics added to their popularity. After all, it's not just the masses who tend to rate what they see more often more highly. Critics'praise is deeply mixed with publicity. “Scholars”, Cutting argues,“are no different from the public in the effects of mere exposure.”

The process described by Cutting show a principle that the sociologist Duncan Watts calls“cumulative advantage”:once a thing becomes popular, it will tend to become more popular still.A few years ago, Watts had a similar experience to Cutting's in another Paris museum. After queuing to see the"Mona Lisa "at the Louvre, he came away puzzled: why was it considered so superior to the three other Leonardos, to which nobody seemed to be paying the slightest attention?

When Watts looked into the history of"the greatest painting of all time", he discovered that, for most of its life, the"Mona Lisa"remained in relative obscurity. In the 1850s, Leonardo da Vinci was considered no match for giants of Renaissance art like Titian and Raphael, whose works were worth almost ten times as much as the"Mona Lisa" It was only in the 20th century that"Mona Lisa rocketed to the number-one spot. What brought it there wasnt a scholarly re-evaluation, but a theft.In 1911 a worker at the Louvre walked out of the museum with the " Mona Lisa"hidden under his coat. Parisians were shocked at the theft of a painting to which, until then, they had paid little attention.When the museum reopened, people queued to see it. From then on, the"Mona Lisa "came to represent Western culture itself.

The intrinsic (本质的) quality of a work of art is starting to seem like its least important attribute. But perhaps it's more significant than our social scientists admit. Firstly, a work needs a certain quality to reach the top of the pile. The"Mona Lisa"may not be a worthy world champion but it was in the Louvre in the first place, and not by accident. Secondly, some objects are simply better than others.Read“Hamlet”after reading even the greatest of Shakespeare's contemporaries,and the difference may strike you as unarguable. 

A study suggests that the exposure effect doesnt work the same way on everything, and points to a different conclusion about how canons are formed. Great art and mediocrity (平庸)can get confused, even by experts. But that’s why we need to see, and read, as much as we can. The more were exposed to the good and the bad, the better we are at telling the difference.

65. What is the function of the questions in the first paragraph?

A. To arouse readers' interest in the topic to be discussed.

B. To serve as an introduction to the topic to be discussed.

C. To explain the reasons for some works being great.

D. To share the similarity of classics to sculpture.

66. What was the result of Cuttings experiment?

A. His subjects liked the famous paintings because of their comparable quality.

B. His subjects liked lesser known works because of more exposure to them.

C. His subjects showed no difference between the two types of works.

D. All the subjects preferred the famous works shown to them.

67. What caused the superiority of the Mona Lisa to Leonardo’s other works according to Watts?

A. The preference of wealthy and influential collectors.

B. The theft of the painting by a worker.

C. The fame of Leonardo Da Vinci.

D. The cumulative advantage.

68. What does the underline words “remained in relative obscurity”in Para 6 mean?

A. remained relatively unknown

B. became publicly known

C. was widely recognized

D. remained totally unchanged

69. “Hamlet”is mentioned in paragraph 7 mainly to illustrate that______.

A. “Hamlet”is the greatest work of Shakespeare.

B. the"Mona Lisa "is no comparable to"Hamlet"

C. the greatest of an art work lies in its inner value

D. The works of Shakespeare are worse than his contemporaries.

70. What can be a suitable title for the passage?

  A. How exposure leads to fame

  B. Why the Mona Lisa stands out

  C. Cumulative advantage makes great works

  D. The Mona Lisa,the greatest painting of all time

65.【参考答案】A
【思路解析】细节理解题。根据第一段“If so, you’ve probably thought about the question a psychologist, James Cutting, asked himself: How does a work of art come to be considered great?”可以得知，引起读者对所讨论的主题的共鸣。
66.【参考答案】B
【思路解析】细节理解题。根据第三段“Afterwards, the students preferred them to the canonical works, while a control group liked the canonical ones best. Cuttings students had grown to like those paintings more simply because they had seen them more.”可以得知。
67.【参考答案】D
【思路解析】细节理解题。根据第五段““cumulative advantage”:once a thing becomes popular, it will tend to become more popular still.”可以得知，“蒙娜丽莎”正是靠累计优势在众多作品中脱颖而出。
68.【参考答案】A
【思路解析】细节理解题。根据第六段“ In the 1850s, Leonardo da Vinci was considered no match for giants of Renaissance art like Titian and Raphael, whose works were worth almost ten times as much as the"Mona Lisa" It was only in the 20th century that"Mona Lisa rocketed to the number-one spot.”可以得知，“蒙娜丽莎”在其一生的大部分时间里都处于相对模糊的状态。
69.【参考答案】C
【思路解析】细节理解题。根据第七段“Secondly, some objects are simply better than others.Read“Hamlet”after reading even the greatest of Shakespeare's contemporaries,and the difference may strike you as unarguable. ”可以得知，艺术作品的最大价值在于其内在价值。
70.【参考答案】B
【思路解析】综合分析题。根据全文可以得知，以“Why the Mona Lisa stands out”为题，能更加呼应主题，并引发读者兴趣。
第Ⅱ卷（两部分共35分）

第四部分任务型阅读（共10小题；每小题1分，满分10分）
请认真阅读下列短文，并根据所读内容在文章后表格中的空格里填入最恰当的单词。注意：每个空格只填1个单词。请将答案写在答题卡上相对应的题号的横线上。
Fighting the curse of presenteeism
“ It’s true hard work never killed anybody, but I figure, why take the chance?” Beyond a certain level, extra effort seems to be self-defeating. Studies suggest t at, a er 0 hours a week, employee productivity falls sharply.

But that doesn't stop some managers from demanding that workers stay chained to their desk for long periods. Jack Ma, the founder of Alibaba, recently applauded the "996” model, where employees work from 9am to 9pm, six days a week, as a huge blessing”. However, to modem office workers presenteeism is a curse.

There will be days when you do not have much to do, just waiting for someone else to respond to a request. As the clock ticks past 5pm, there may be no purpose in staying at your desk. But you can see your boss hard at work and, more important, they can see you, So you make an effort to look busy.

If bosses do not like to go home before their underlings （下属）and underlings fear leaving before their bosses, everyone is trapped. Staff may feel that they will not get a pay rise, or a promotion, if they are not seen to be putting in maximum effort. This is easily confused with long hours. Managers, who are often no good at judging employees5 performance, use time in the office as a measurement.

But presenteeism has more serious consequences. As well as reducing productivity, this can increase medical expenses for the employer. According to a study, these costs can be six time： higher for employers than the costs of absenteeism among workers. To take one example, research found that Japanese employees with lower-back pain were three times more likely to turn up for work than in Britain. As a result, those workers were more likely to experience greater pain and to suffer from depression. What could be more discouraging than being in pain while feeling trapped at work?

“None of this is to say that employers are not entitled to expect workers to be in the office for a small amount of time. Unavoidably there will be a need for some (preferably short )meetings. Dealing with colleagues face-to-face develops friendships, allows for a useful exchange of ideas and enables workers to have a better sense of their common needs.
With portable smartphones and laptops, we can work at home as easily as in the office. Turning an office into a prison does nothing for the creativity that is increasingly demanded of office workers as routine tasks are automatic. To be productive you need presence of mind, not being present in the flesh.
	Fighting the curse of presenteeism

	71.
▲
	Modem office workers stay chained to their desk for long periods.

	Contributing factors
	· The staff think it may give them a（n） 72.
▲
to get a pay rise,
or a promotion.
· Employees’ performance is73.
▲
in terms of working hours.

	Consequences
	· Employees work less 74.
▲
, some pretending to be busy.
· More medical expenses have to be 75.
▲
by employers for
their staff
· Workers have a 76. 
A
to be both physically and mentally
unhealthy.
· It is of no 77.
▲
to the development of creativity.
.

	78.
▲
of face-to-face
contact
	· It develops friendships.
· It makes a useful exchange of  ideas 79.
A
.
· It enables workers to 80.
A
each other’s needs.

	Conclusion
	To be productive you need presence of mind, not being present in the flesh.


71.【参考答案】Phenomenon
【思路解析】这是一片叙述文，根据文章内容结合表格，先给出现象，讨论这种现象的原因、后果。因此答案Phenomenon。
72.【参考答案】edge/advantage
【思路解析】根据第4段“Staff may feel ……not get a raise，or a promotion……efforts”得出答案是give sb. a edge/advantage给某人优势。
73.【参考答案】judged/evaluated/measured
【思路解析】根据第4段最后一句，老板不擅长评判员工的表现，就会把时长作为考核手段得知答案是考核，evaluated 或者measured/judged。
74.【参考答案】productivity
【思路解析】结合第5段第二句和第3段最后一句，可以得知答案是productivity。
75.【参考答案】paid/covered/afforded
【思路解析】根据第5段的第二句，可得知雇主还需多支付员工的医疗费用，因而表格中更多的医疗费用要雇主为员工负担。注意被动语态的使用。
76.【参考答案】tendency
【思路解析】由第5段倒数第二段可以得知员工工作时长过长，不仅身体上出现健康问题，心里上也遭受巨大压力，have a tendency to有……倾向，有……趋势。
77.【参考答案】use/help
【思路解析】由最后一段第二句“……does nothing for the creativity……”可知答案是be of no use毫无帮助，所以答案是use/help。
78.【参考答案】Benefits
【思路解析】根据表格给出的内容可知都是face-to-face contact的好处，因而由文章内容概括为benefits，注意表格中第一栏首字母大写。 
79.【参考答案】face-to-face
【思路解析】很据文章第6段最后一句，知道在阐述face-to-face 的工作方式，因而答案是face-to-face，面对面的思想沟通、意见交流。
80.【参考答案】understand
【思路解析】根据第6段最后一句“Dealing with colleagues face-to-face develops friendships, allows for a useful exchange of ideas and enables workers to have a better sense of their common needs”可知答案是更好的明白，明白：understand。
第5部分 语言表达（共2题，满分25分）
第一节 单词拼写（共5题，每题1分，满分5分）
       根据所给字母或汉语提示写出空缺处单词的适当形式，使句意完整正确，每空一词。
81. To everyone’s surprise,the student should have been praised for putting forward an idea which c              (与……相矛盾) their teacher’s.
【参考答案】contradicted
【思路解析】考查中英文互译。句意：令大家吃惊的是，提出与老师想法相矛盾的学生应该受到表扬。时结合句子，确定谓语动词contradict要用于一般现在时，定语从句中主语是which代指an idea，故，答案是contradicted。
82. The government made a statement               (谴责) the bombing which killed hundreds of innocent citizens.
【参考答案】condemning
【思路解析】考查动词的非谓语形式。句意：政府正式声明谴责爆炸导致几百位无辜市民遇难。现在分词作定语修饰名词，表达是该名词发出这样的动作。现在分词作定语可以扩充成一个定语从句，原句可以改写为The government made a statement which condemned the bombing which killed hundreds of innocent citizens.
83. It is a truth u              acknowledged that a single man in possession of a good fortune must be in want of a wife.
【参考答案】universally
【思路解析】考查副词用法。句意：众所周知，一个男人拥有大量财产肯定会渴望一位妻子，这是一个被普遍认可的事实。that引导同位语从句，阐述truth。Acknowledged在句中作a truth的后置定语，非谓语动词acknowledge的是过去分词表示被动。
84. With a large English vocabulary at her              , she had no trouble reading the novel.
【参考答案】universally
【思路解析】考查短语用法。be at one’s command自由支配（某物）。句意：由于有大量英语词汇可自由支配，她读这本小说没有困难。
85. Consumers have a wide range of choices and price competition is f             .
【参考答案】fierce
【思路解析】考查形容词用法。句意：消费者由大量选择，因而价格竞争很激烈。根据句意，激烈的fierce。
第二节 书面表达（满分20分）
请阅读下面文字，并按要求用英语写一篇150词左右的文章。
	Matt: Have you seen the report about artificial intelligence (AI) from the World Economic Forum (WEF) ?
Mathew: Oh,yes. It says that robots will create twice the number of jobs that they will destroy. 
Matt: Anyway, it is terrible news for the old generations with low-skilled jobs.
Mathew: Exactly! But many middle-class roles are also at risk, such as financial analysis, accountants and lawyers.
Matt：Then I think there will be a huge change in the structure of workforce.
Mathew: Exactly. That’s why many managers expect a change from full-time work to flexible(灵活的) employment with a focus on productivity.
Matt: Improving productivity. Mm...,brilliant idea.
Mathew: Without doubt, all industries require their workers to reskill,especially travel and tuorism industries.


【写作内容】
1. 用约30个单词概括上述信息的主要内容；
2. 用约120个单词发表你的观点，内容包括：
（1）什么原因导致了这些变化？（不少于两点）
（2）面对即将到来的“智能时代”你所做的准备（至少两点）
【写作要求】
1. 阐述观点或提供论据时，不能直接引用原文语句；
2. 作文中不嫩出现真是姓名和学校名称；
3. 不必写标题。
【评分标准】内容完整，语言规范，语篇连贯，词数适当。
【范文】
Robots are replacing human beings but are also creating twice as many jobs as they have destroyed, bringing about great changes in the structure of workforce and requirements for reskilling.

Behind the phenomenon are various reasons. For one thing, great advances in science and technology make it possible for robots to be widely employed in many fields. For another, productivity has been greatly increased by using robots, which in turn helps promote the popularity of robots. Meanwhile, the widespread application of robots has generated great changes in the way people work as well as their choices of jobs.

Feeling lucky to live in the intelligent age，I’d like to equip myself with relevant knowledge and enjoy the convenience it brings us. Besides, I will try to cultivate creative thinking and the sense of innovation so as to meet the urgent needs of the fast development of science and technology.

解析

【分析】

这是一段对话。短文阐述了机器人正在取代人类，但创造的就业机会是它们所破坏的就业机会的两倍，这给劳动力结构和接受再培训的要求带来了巨大变化

【详解】第一步：阅读

1．认真阅读给定的原文材料，如果一遍不能理解，就多读两遍；阅读次数越多，你对原文的理解就越深刻。

2．划出那些能概括文章主题思想的单词、短语或短句子；决定原文中哪些部分重要，哪些部分次重要了；对重要部分的主要观点进行概括。

3．简要地记下主要观点——主题、标题、细节等你认为对概括概要写作重要的东西。

第二步：写作步骤

1.浏览对话，找出主题：AI的发展以及所带来的挑战。

2.分析文章的结构，把它分成几个部分，找出每个部分的主要思想，用你自己的文字简短地写出来。本文主要分为两部分。第一部分：Robots are replacing human beings but are also creating twice as many jobs as they have destroyed。第二部分，Robots bring about great changes in the structure of workforce and requirements for reskilling.

3.按照逻辑顺序组织主要和相关的支持点， 使用最短的连接词进行连接。如：but，and.

第三步：修改成文

草稿拟好以后，对它进行修改。

首先，与原文比较看是否把所有重要的观点都概括了，概要写作中的观点是否与原文中的完全一致。

其次，如果出现了不必要的词汇、短语或长句子，删除它们，保持语言简单明了。

最后，检查拼写、语法和标点符号的错误。

第一步：审题。审题的目的是获取重要信息。通过审题我们可以确定几个方面的信息。第一，这一现象产生的原因有哪些(不少于两点);面对即将到来的“智能时代”你所做的准备。第二，人称为第三人称。第三，时态以一般现在时为主，兼用一般将来时和现在完成时。

第二步：布局段落，确定主要段落，次要段落，段落数量。这篇写作段落数量为二段。第二段，这一现象产生的原因有哪些(不少于两点)。第三段，面对即将到来的“智能时代”你所做的准备。

第三步：确定关键词汇和短语: productivity, generate, advance，promote, bring about，in the structure of workforce，science and technology，productivity，in turn ，the widespread application of robots, as well as , equip  with, cultivate creative thinking, the sense of innovation, meet the urgent needs .

第四步：确定较为高级的句子:现在分词作伴随状语Robots are replacing human beings but are also creating twice as many jobs as they have destroyed, bringing about great changes in the structure of workforce and requirements for reskilling. It作形式主语，动词不定式作真正主语great advances in science and technology make it possible for robots to be widely employed in many field .which引导的非限制性定语从句productivity has been greatly increased by using robots, which in turn helps promote the popularity of robots.

第五步：连句成文，注意使用恰当的连接词进行过渡衔接:For one thing，Meanwhile，Besides.

第六步：注意书写，保持卷面整洁，避免划线，乱擦。

【点睛】文章思路清晰，语言规范，段落整齐，语篇连贯，层次清晰。使用了较为高级的句式:如现在分词作伴随状语Robots are replacing human beings but are also creating twice as many jobs as they have destroyed, bringing about great changes in the structure of workforce and requirements for reskilling. It作形式主语，动词不定式作真正主语great advances in science and technology make it possible for robots to be widely employed in many field .which引导的非限制性定语从句productivity has been greatly increased by using robots, which in turn helps promote the popularity of robots.

高级句式的应用提升了写作的档次，整个短文显示出了作者高水平的英语表达能力
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